
  ******* PAGE 160 *******


  Critics like Vilfredo Pareto pointed out that that way of calculating gross gain did not always give a correct result. In case the original distribution of labour and capital in production was different, the result would also be different. Suppose countries A and B each employ, before they begin to specialize, 50 per cent of their labour force in the production of each of the two commodities; their original total production would be 180,000M and 115,000N. After they specialize, they together produce 35,000 units more of commodity N but 20,000 less of commodity M. We must assume that the loss of 20,000M can be compensated by the gain of 35,000N in order that we can say that by specialization they will produce more. If the loss of M cannot be compensated by the gain of N, the conclusion arrived at by the classical economist becomes incorrect.[18] But normally one should expect the former case to be true. Should the gain of 35,000N fail to become a compensation for the loss of 20,000M, there is no reason to suppose that A should devote, after the opening of trade, all its labour force to the production of N. Normally A would devote 90 per cent of its resources to produce N and 10 per cent to produce M. If so the total production after the division of labour becomes 180,000M and 135,000N—a net gain of 20,000N.[19]


  Mill was wrong, however, when he said that upon the assumption of a zero cost of carriage and a constant cost of production, every commodity would, if trade were free, be either regularly imported or regularly exported and a country would make nothing for itself which it did not also make for other countries.[20] Should Mill’s dictum be correct, A must devote, after the opening of trade, all its labour to produce N and consequently Pareto is right in his criticism.[21]


  3. The Same Subject Continued


  Although we have assumed that there are only two commodities, the doctrine of comparative costs is applicable to the case of any number of commodities. The doctrine may then be restated as follows: Country A enjoys a comparative advantage over country B in all its export commodities relatively to all its import commodities.[22] Let us arrange the various goods in the order of the comparative advantage of B over A so that:—
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  in which ma, na, oa, pa . . . qa denotes the number of units of commodities M, N, O, P . . . Q that one unit of labour produced in A, and mb, nb, ob, . . . the same in B. After the opening of trade, A will produce those goods which are on the right-hand side and B those on the left-hand side.


  We cannot, however, draw the dividing line between the category of goods produced by A and that by B, if we only judge from the cost conditions. Hence when the number of commodities is numerous, although “the nature of the problem would not have greatly changed . . . its wording would”, to use the words of Marshall, “have been more complex.” In order to overcome the difficulty Marshall suggested that we might measure all the exportable goods of a country in terms of a common unit or “bale”, which was defined as embodying a constant quantity of labour and capital of the country. Thus the exports of A may be expressed in terms of representative bales or units of A’s goods or in terms of units of a representative commodity N, each unit being equivalent to the produce of a given quantity of labour and capital. The real cost of each unit is constant, but the individual goods that compose the unit may change. In that way the case of more than two commodities may be treated as easily as the case of two commodities.[23]


  ******* PAGE 174 *******


  We may proceed now to some of the geometrical features of the two curves. Firstly, they are symmetrical in the sense that both the ordinates and abscissae are homogeneous quantities each representing totals. Every statement as to the shape which it is possible for A’s curve to assume has corresponding to it a similar statement as to the shape which it is possible for B’s curve to assume; but wherever x-axis occurs in the former statement, y-axis will occur in the latter and vice versa. Secondly, the curves must start from the origin, because when Dam = O, p Dam = O. Thirdly, since
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  the price of M in terms of N is represented by the tangent of the angle POM. Fourthly, the elasticity of demand for A’s curve is measured geometrically by[55]:—
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  Fifthly, the curve OA cannot be cut more than once by a horizontal line in any case and the curve OB cannot be cut more than once by a vertical line. In other words, for a given value of Dam, there could not be two values of pDam. For if it did, it would imply, say, that 4,000M are just capable of being sold for the expenses of producing 20,000N as sold for the expenses of producing 40,0002V. That is clearly impossible.


  If the demand conditions are normal, there are five more characteristics, (a) Every increase in Dam (or NP) is accompanied by an increase in 1/p (or OM/ON). (b) It follows that if P be any point on OA, every point on that portion of OA which is between O and P must lie below the straight line OP and every point on the remaining portion of OA must lie above the straight line OP. Therefore OA cannot cut twice any straight line through the origin. (c) It can be proved directly from the last point that the portion of OA which is adjacent to O lies below that portion of OB which is adjacent to O. (d) The curve OA cannot cut the same vertical line more than once, (e) The curves OA and OB cannot cut each other in more than one point (besides O).


  Finally he came to the problem of equilibrium. He said that “every point in which the two curves cut one another corresponds to an equilibrium of the trade”. When the demand conditions are normal, there is only one equilibrium point.


  ******* PAGE 182 *******


  One more word may be said of the relation between the ratio of the wage-level of A to that of B and the barter terms of trade. Under the simplifying assumptions of two countries producing altogether two goods which are both subject to the law of constant costs, the wage ratio and the barter term of trade will always move together. Let us express the barter term of trade in terms of a number of units of M per unit of N. Then we have the following equation:—
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  Under the assumption of constant cost, mb/ma becomes a constant; the relation between the barter terms of trade and the wage ratio is a clear linear relation. If production is subject to varying costs, the relation, though still definite, is more complex.


  It is useful, therefore, to distinguish between the concept of barter terms of trade, which may also be called commodity terms of trade, and the concept of “factorial terms of trade”. The factorial terms of trade of a country may be defined as the number of units of factors of production of the other country which produces the quantity of products that will exchange for the output of one unit of the factors of production of the country under consideration. In the case that we are examining, i.e. the case of only one factor of production (viz. homogeneous labour), the factorial terms of trade become the number of units of B’s labour which produces that quantity of M which will exchange for the output of one unit of A’s labour. If the commodity term of trade is Qm/Qn, Qm and Qn being the quantity of M and N respectively, the factorial term of trade is:—
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  or, according to the equation given in the preceding paragraph, Wb/(Wb R), i.e., the wage ratio.[67]


  When there are more than two commodities that enter into international trade, it is no longer convenient or even possible to express the commodity term of trade in terms of physical units of the trading commodities. In that case it is common to measure the commodity term by the ratio between the index of export prices and the index of import prices. But the relation between the commodity term of trade and the factorial term of trade remains the same.[68]
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